Math Problem solving

Answer key grade 6
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1. 92,960,000 miles

2. No, she is not right because 0.06 means six hundreds and 0.60 means 60 hundredths, or 6 tenths.

3. 80,000,000 china, 800,000 India, 80,000,000 U.S

4. 2004: MMIV, 2005: MMV, 2006: MMVI

5. Pat 12.9, Jamie 13.08, Chris 13.45

6. 9,042,021
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1. $19.30

2. She is comparing the ones digit in the top number with the tens digit in the bottom number. You must compare digits that have the same place value.

3. Graham, Merry, Freeman

4. C

5. white beans, beef, biscuit w/egg and sausage, codfish

6. The zero in the cod protein amount, 19.50, is not necessary, because 50 hundredth is same as 5 tenths. The zero in the white beans protein amount, 19.02, is needed, because 2 hundredth is not the same as 2 tenths.
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1. $5.71

2. Possible answer: 24.90, 24.900

3. He didn’t line up the decimal points. The answer should be 256.413

4. 0.399 seconds.

5. Earth to Mars: 321.68 days, Earth to Venus: 140.599 days

6. 8.2+5.7+4+4+6.3=28.2, She ate 8.2g above her goal.
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1. answer will vary. Example: 81,247 and 80,940

2. Estimate: $20 - $3 - $7 = $10. She should have about $10 left. The actual answer is $9.97.

3. Answer will vary. Example: These large numbers are usually estimates; these are things that can’t be measured exactly; the  number are too long to write out.

4. There are three possible answer : 32.541, 32.514 and 32.451

5. By rounding off, she’ll have 124+19, which is 143. She will discover that be lining up the decimal points. She will get an answer close to 143.

6. &3.00 + 2.00 +2.00 + 1.00 = 8.00. Yes, he’ll have enough to buy the cookies.
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1. 19.99 mph faster

2. 0.11 seconds

3. Kenteris and Campbell

4. 152.

5. 62+25+12.50=190.12-97.=$93.12

6. He doesn’t have enough money. He is 34 cents short.

7. 3.4 miles
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1. 1

1. y-3

2. 14.67

3. $13.68

4. f-5

5. m=$52.91-$24.73=$28.28

6. x+4; x-4
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1. w+8=y

2. 27 CDs

3. 14.35-e=f

4. $6.12 is the value of e. He now has $8.23 saved.

5. S-4.8=t or t + 4.8 = s ; student values for s will vary. Check for accuracy.

6. Possible answer: S + t =89; s + (s-4.8) = 89; t+ (t+ 4.8)=89
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1. there are 5 answers; 8+2+6; 6+8+2; 6+2+8; 2+8+6

2. Answer will vary. Example 83+17=100. “I look for two numbers whose ones digits add to ten.”
3. 66 pages. Example:21+16+29+21+29+16 (commutative props)

4. Example: (24+26)+(19+11)+(12+8)=50+30+20=100

5. Yes. Josh is using the properties of addition to simply the problem.

6. Answer will vary.
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1. 20.2 miles. Methods will vary.

2. $3.01

3. Example: She subtracted 0.05 from the first number and added it to the second number. Getting $20.00 + $59.47 = $79.47

4. 12.02. Methods will vary.

5. 55.96; the questions on the left because he can add .56 and .44 to get 1.00 and then add 35+20

6. one hour, one minute, and 7 seconds.
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1. $12,000

2. $100,000

3. Possible answer: 40 and 3,000; 4 and 30.000; 400 and 300; etc

4. $9,000

5. about 16,000 pages

6. 42,500 eggs
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1. 432 chocolates

2. When he multiplied by the tens digits (5), he didn’t put a zero at multiplying be tens. The answer should be : 11,628

3. 3,744 miles

4. 86,400 drops of water

5. $ 192,000

6. 5,878,200 pieces
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1. 144, 43, 64, 5×5×5×5, 128

2. 42
3. 24 ; 16

4. Answer may vary, but students should notice that the pattern of the last three digits of each product alternate between 125 and 625

    57 = 78,125 so the student should guess that the last three digits of 58 will be 625; 58 = 390,628

5. 45, 1,024

6. First job: $2,046 total for the 10 days; second job: $1,092 for the seven days.

The first job pays more.
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1. about $60 × 120 = 7200 yen

2. Possible answer estimate: 100×20=2000. Answer: 2232 paperclips.

3. Possible estimates : 50×5= 250 pages

4. 100× 6.2 = They have about 620 paperclips.

5. No, Possible answer explanations: In the first problem, If you round the number off to the nearest ones place; you have 30×7, which is 2.10. In the second problem, you have 27×10, which is 270. The second product is larger.

6. Possible answer: $17.86; because she rounded both numbers down, her estimate was lower than the actual cost.
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1. Estimate. Possible answer: It appears to be rounded, and it is impossible to know the exact number of people that read a comic strip.

2. Exact answer. 2940 tickets

3. 38,400 feet

4. Estimate. 35 minutes × 4 = 140 minutes, or 2 hours and 20 minutes.

5. Possible answer: 26,000×5=130,000

About 130,000 projects are turned in each week.

6. Miguel is right. An exact answer shows there is room for 132. There is room for four  more students.
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1. $131.25

2. Yes. The thousands digit of the answer is zero, so it doesn’t have to be written.

3. $99.65

4. $541.38

5. Shop Quick = $91.80; Mike’s Market =$79.40; difference = $12.40

6. In 12 weeks, he would earn $1101.60 at Shop Quick and $952.80 at Mike’s Market. The Shop Quick job would allow him to earn enough to reach his goal.
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1. Possible answer: (8×50)+(8×2) = 400+16=416

2. Possible answer: (4× $5.00)-(4× $0.1.) = $20.00-$0.40=$19.60

3. Possible answer: 50 is half of 100, so 26× 50 is half of 26×100

4. Possible answer: She grouped the numbers like this and multiplied: (25×4)×(34××2)=100×68×=6800

5. Possible answer: Diana rounded 392 up to 400, multiplied 400×50 to get 20,000, and then subtracted 50×8, because she had rounded up by 8 units. Charlie multiplied each place value of 392 by 50.

6. $29.20. Method will vary.
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1. about 10

2. about 4

3. about 6 tickets each

4. 18,000 + 6,000 = 3. Most households have about 3 people, so hers is longer than most.

5. 32÷2= about garter snakes; 5000÷30=about 167 reticulated pythons; 5000÷2=25000 garter snakes

6. No. 11 and $12,462 were rounded down. She should round the 11 up to get a more accurate answer.
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1. 49 cards each

2. yes, 13 members will be on each team

3. She will have twelve 16-ounce cups; to get 24 cups, she should pour 8 ounces in each cup.

4. He’ll have 5 pieces, with 8 inches left over.

5. 22 bundles; 5 left over

6. Students: 8 each. Teachers; 4 each
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1. $1.25

2. round up to $56.30

3. 12.6ml

4. Each plot will be about 2.09 acres.

5. No. They need to make 2.52 m more.

6. about 26.38 grams
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1. 2m books

2. 15÷d or 15/d

3. 24÷n, or 24/n

4. 8f; $1.25f

5. (21,248)/2 or 10,624 + n/2

6. 204d cans in d days; 7s types of soup
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1. Cyrun is 12 and Sylvie is 4.

2. 16 fish

3. A large cone is $3.00; a small cone is $1.50.

4. Tyler is 12, Joshua is 14, and David is 16.

5. Bobbl had 16, and Mike had 20.

6. Fantalls were $1 each, and 6 block moors were $3 each.
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1. $26.00

2. 12.53ml

3. 1,110 miles

4. $27,498.18

5. 2075 In, 172ft 11 in, 57 yds, 1ft, 11 Inches

6. 25m
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1. 21 hours

2. 30 pitches

3. There were 5 runners

4. She will make $109.45

5. 20 hours

6. price per ounce of the small can is $0.07 and the price per ounce for the large size is $0.08. The small can is the better deal.
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1. 13

2. spring

3. Possible answer : Each square symbol could represent 2 backpacks, and a half square could represent 1.

4. Check students’ pictographs to be sure data given matches that shown in the frequency table; red: two rectangles plus 1/2 rectangle; blue: 7 rectangles plus 1/4 of a rectangle.
5. Norway, USA, and Japan

6. about TVs
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1. Friday and Saturday

2. 100

3. Friday through Sunday, sold on Monday though Thursday was 433. There were 600 cones sold on Friday through Sunday. 600＞433

4. 10 people

5. Possible answer: It seem that the more TV students watch, the lower their test score.

7th grades, 10

6. 16, According to the graph, you could expect the score to go from a 54 to a 70, which is a 16-point rise.
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1. Check students’ histograms to be sure data given matches that shown in the frequency table.

2. Check students’ frequency tables and histogram to be sure data given is accurate; the units are different.

3. Intervals should be 10-12, 13-15, 16-18 and 19-21 degrees; check histograms to be sure data given matches that shown in the frequency table.

4. Highlighted frequency is the interval from 13 degrees to 15 degrees; The relative frequencies are: .0, .4. and .1 respectively.

5. table to read: 104 dislike plums; 415 like plums; 346 have no strong opinion about plums.
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1. about 400

2. Graph A

3. Graph A was made by the marketing film. It is designed to exaggerate the result. 

4. Graph B. You can tell that most people preferred Wild West root beer, but the difference dosen’t appear to be so great as in Graph A.

5. No. It looks this way only because the vertical scale jumps from 0 to 275; graph A has a break.

6. Check students’ graph to be sure data given matches that shown in the table; Check the scales on the graphs.
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1. 46 pounds

2. Answers may vary. Possible answer: about 65 pounds

3. age 2.

4.  From birth to age 1, Lin gained 13 pounds.

You can tell because the graph rises steeply between there ages.

5. at birth and at age 1

6. The graph would probably level off at some point, when Lin and Amy reach their adult size.
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1. They represent Lila’s scores in the 60’s, 70’s, 80’s and 90’s.

2. 30

3. 17, 59

4. rows 4 and 5

Most homerooms collected between 40 and 59 cans.

5. Possible answer: Of the 20 countries she looked up, the life expectancy for women was most often in the 40’s

6. 4 countries
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1. A bar graph is best. A line graph cannot be used in this situation because it does not represent data that changed over time.

2. Answers may vary. For example, to display the change in temperature over time, a line graph is best. To show the most common temperatures, a stem-and-leaf plat can be used.

3. Check students’ line graphs and stem-and-leaf plots to be sure data given mathches that shown in the table.

4. Thursday, The line graph is best.

5. Suggested answer: Double bar graph.

6. One could use line plots or stem-and leaf plots, but non of these are the best ways to display data of this type. Double bar graph is the best.

A line graph should not be used because the headings are clubs, and are no thing that changes over time.

<page31>

1. 6

2. 5cm, 4cm, 4cm, the mean is the greatest.

3. 17, 16, 18

4. 1

5. Answers may vary. Possible answer: 11, 13, 13, 13, 14, 15, 15, 15, 15

6. 100, no, no

<page32>

1. mean: There in no outlier, so the mean would be the most appropriate average.

2. Answers will vary. Possible answer: 6’3”
3. Is an outlier, it made the mean appear higher than it really is. It would be more accurate to report the median, which is 9.

4. The median is 7 and the mean is 13.4. The median is the lower price.

6. Chile’s per capita income must be an outlier because the mean is higher than the 5 countries listed., $10,000
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1. one class

2. If they would like an exact number, they should ask every student in the school.

3. the 125 papers. , the 25 papers he picks out of the bag.

Possible answer; If could represent the results of a survey asking 125 students in his school whether or not they like bananas, and the 25 papers drawn out could represent the results of the survey in his class.

4. one 10-yard by 10-yard sq., the woods, about 150 birch trees

5. about 1700 surnames

6. about 20
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1. one class

2. If they would like an exact number, they should ask every student in the school.

3. the 125 papers. , the 25 papers he picks out of the bag.

Possible answer; If could represent the results of a survey asking 125 students in his school whether or not they like bananas, and the 25 papers drawn out could represent the results of the survey in his class.

4. one 10-yard by 10-yard sq., the woods, about 150 birch trees

5. about 1700 surnames

6. about 20
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1. Answers will vary. Possible answer ; Ask only professional musicians

2. Answers will vary. Possible answer ; Conduct a random survey through the mail or ask random passersby

3. No, this would not be a representative sample. The sample is too small to predict what others would do, and her friends would do , and her friends would probably be more supportive or her idea than a random sample would be

4. No, this would be a biased sample. Her sample should be more random
    5. Bert’s method will probably be more accurate because he uses a larger sample.

    6. 25000, 15000,14000, Mary’s is probably the best estimate because hers in the larger sample
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1. answers will vary. Possible answers; Vandy could survey the entire school population, or survey her class and multiply that number by the number of classes in the school

2. Answers will vary; Possible answers; Ask 50 random students if they used an alarm clock that morning. Or ask only the students in his class. The larger than sample, the more accurate the results will be

3. Answers will vary; Possible answers; survey 30 random boys and 30 random girls about how many pens and pencils are in their backpacks. Calculate the total number of pens and pencils for each group and compare the totals.

4. Joe’s experiment will be more accurate as an ice cream shop serves a larger number of people. Bill’s results won’t predict what most people prefer because it has a limited number of choices and a smaller sample

5. answers will vary. Be sure that students’ experiments reflect a sampling of sufficient size, are unbiased, and that data collected reflects the hypothesis

6. Check students’ tables and graphs to be sure the information matches the data collected; Answers will vary. Conclusions should verify or contradict the hypothesis presented in problem5
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1. Yes, she can give each child the same number of tickets; 72÷6-12

2. To test divisibility by 5, check it the last digit is a 0 or a 5. Luis used the divisibility rules for 3 and 9.

3. He could use either 3 or 4 boxes, because the number 132 is divisible by both 3 and 4. It is not divisible by 5

4. 2

5. 6, 118
7. 36 packages of hot dogs, 48 packages of rolls.
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1. 1 row of 28, 2 rows of 14, 4 rows of 7, 7 rows of 4, 14 rows of 2, or 28 rows of 1

2. 4 rows of 7 chairs

3. possible arrangements; 3 rows of 8, 4 rows of 6, 6 rows of 4, and 8 rows of 3.

4. He can’t do this, because the number 17 is a prime number. 

5. 59 marbles
6. 61 marbles
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1. No, 8 is the last common multiple

2. 2Yes, they can each put their pennies in piles of 9 and have none left over.

3. 6, 7

4. 12

5. 4, 3, 6
6. 13, 9, 4 bags of cookies, 2 bags of chocolates, and 3 bags of lollipops
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1. 5/8

2. 3/10

3. 2/8, 4/16

4. 2, 8, 3

5. 3, 1/12
6. 90 peas, 54 carrots, 26 beans, 12 tomato plants, and 24 eggplants.
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1. 9/27=1/3

2. 5/15=1/3

3. 2/8=1/4, 1/8, 3/8, 6/8=3/4, 2/8=1/4

4. 64, 32, 32/64, possible fractions; 18/32, 8/16, 4/8, 2/4, 1/2, 1/2
5. 1/5 were younger than 5; 1/1o were teenagers; 2/5were adults; 1/4 were out-of-state.

6. Possible answer; HE can use the divisibility rules to reduce and keep doing this until the fraction can’t be simplified any more. The numerator and denominator in the fraction 192/360 are both divisible by 6. The resulting fraction 32/60 can be reduced to its simplest form, 8/15, using the divisibility rule 4.
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1. The price of the ride and the length of the ride are not necessary to solve the problem

2. Answers will vary. Possible answer; How much money does the amusement park collect for each roller coaster ride if all of the seats are full?

3. 2/5; The number of cookies per box and the cost per box

4. 1/5; the number of cookies per box, the amount the band has raised so far
5. 1/25, $ 280, All information is extra the expected number of riders ad the amount of money they hope to raise.

6. 92/278 or 1/3, 1/3, When Dane collected his information, he forgot to ask about hills, and he didn’t investigate the projected weather for the 6-day period.
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1. 5/20<8/20. Dinshaw’s bug was longer.

2. 1/2 is largest and 1/4 is smallest

3. Yes, there are many possible solutions. One possible answer; 1/2<<3/4<5/6

4. Joey ate the most cake – 4pieces 
5. Yes; Using the common denominator of 16, the three fractions add up to 16/18 ths, or 1, so the bags were the same size

6. They have each read 85 pages
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1. 3/10

2. 1/2

3. 3/20

4. 1/5; greater than; 1/5=4/20;4/20>3/20
5. Check students’ tables; 1/2 have at least 3 of the amenities; Great Pond and River Bend.

6. no; None of the campgrounds have all 4 amenities. 
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1. 3/2

2. 2 and 1/2 cookies

3. There are 5 and 3/5 pans of brownies; 43/8

4. 4 and 2/3;Yes. 2 cookies left over.
5. Answers may vary. Possible answers; 35/2= 17 and 1/2; 52/3= 17and 1/3 

6. 2 and 3/5=13/5; 3 and 2/5=17/5, and 5and 2/3= 17/3. So, the possible numerators are 13, 15, and 17
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1. 8.6 gal

2. 1 and 3/4 cups

3. Amy

4. Collette’s was closer. Her fraction, 6/8, is equal to 0.75. Kirk’s fraction, 4/8, is equal to 0.8
5. The large juice box holds twice the amount of the smaller box; it is a better deal.

6. Jose’s

<page 46>

1. Leo

2. 9 and 1/4, 10.25, 10 and 3/8

3. 2.95 lbs.

4. 2 and 1/8 miles, 1.98miles, 5/3 miles
5. Mix C with D, and B with A. Total solution will be 2.9 ml.

6. She must cut 4-inch blue squares, 4-inch green squares, purple diamonds, and 8-in yellow squares.

<page 47>

1. 3/5

2. 1/2

3. 1/4

4. 1/2
5. 2/5 pound

6. 2, 1
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1. 5/9

2. 4 of the shorter pieces

3. 7/8

4. 5/8 yd
5. 11/18

6. No; they used 6/6 of their time

<page 49>

1. 9/20 of a mile

2. 11/12

3. 1 and 1/4 yd

4. 10/16 or 5/8 are either broken or missing
5. 1/20

6. 1 and 1/5, 1, 12
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1. 5/8

2. 1/6 cup

3. 7/20 of an hour

4. 1/10 of a pound
5. 1/4, 3

6. 7/8 and 5/6 
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1. 1/6

2. 3/8

3. 1/5 of a mile

4. 7/20
5. 1/6, 6

6. 3/5, 3 
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1. 7 and 5/6

2. 6 and 1/2

3. 5 and 1/4

4. 5 and 1/4
5. 1 and 1/8

6. 100 and 17/30 pounds 

<page 53>

1. 1 and 1/4 miles

2. 5 and 3/4 pounds

3. 3/4 pound

4. 2 and 1/4 hours
5. Jose traveled farthest, Jose traveled 1/6 mile 1/6 of a mile more that Ming and 5/6 of a mile more than Jorge

6. 1/4 of the package, 4 ounces 

<page 54>

1. 1 and 1/8

2. 1 and 5/12

3. 2/15

4. 1 and 11/12
5. 7 and 39/40, On Sunday, Dylan hiked 5 and 2/5 miles and Casey hiked 13 and 3/8 miles.

6. 0; All of the space is used up.
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1. 4 and 1/2

2. 4 and 3/4

3. 6

4. 7/8 hour 
5. 9 and 7/10, 13 and 9/10

6. 1 and 5/6, 1
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1. 2

2. 2

3. 7

4. 1
5. 1

6. 48
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1. 7 cards

2. 9 pictures

3. Neptune; 8 moons; Mars; 2 moons

4. 12 days
5. 37 grapes

6. 165 pieces
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1. 1/5 hour

2. 1/4 hour

3. 2/5 of the stamps

4. 3/10 foot
5. 1/5 of the work

6. Metal; 7 pieces; Plastic; 38
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1. 3/8 mile

2. 1/8 cup

3. Video games; 1/5 of an hour; Reading;12/25 of an hour

4. 3/10 of a roll
5. $ 4800 

6. $ 6400
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1. 24 and 1/2pounds

2. 5 and 1/2

3. 5/6 foot tall

4. 3/16 foot
5. 6 feet 

6. 10 pounds; 3 and 1/2 more pounds
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1. 1/15 of the flowers

2. 5 and 1/4 laps

3. 285 pieces of file

4He measures out 1/4 cups a total of 11 items
5. 5 and 3/8 foot long

6. Length of shorter side; 5 and 1/12 inches; Perimeter; 40and 2/3 inches
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1. about 8 baskets; 12*2/3=8

2. about 25 concerts; 100*1/4=25

3. about 6hours; 160*3/8=60

4. about 7 pounds;14*1/2=7
5. about 45 cookies; 60*3/4=45

6. about 12 bottles of juice; 18*2/3=12
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1. 4 batches

2. 20 stripes

3. 55 times

4. 6 points
5. 2 and 1/3 pieces

6. 36 obstacles
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1. 12 pieces of wood

2. 4 hikes

3. 14 times

4. 8 nails
5. 3 and 3/5 yard

6. 33 holes
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1. 18 tomatoes

2. 20 dishes

3. 25 vegetables

4. 12 invitations
5. Martin; 36 posters; Sally; 18 posters; To solve, first find 45÷5/6=54, This is the total number of yellow and blue posters. Then find 2/3 of 54 to get the number of posters Martin hung. Find 1/3 of 54 to get the number of posters Sally hung.

6. 40 boards; To solve, first find $345÷$1.50=230 to find the number of feet Mr. Lao could buy. Then find the number of border by dividing 230 by 5 and 3/4. So, 230÷5 and 3/4=40
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1. 4 hours 45 minutes

2. 86400 times

3. 5 hours 25 minutes

4. 12:55 P.M.
5. 2 min, 47 seconds

6. 3 hours 50 minutes
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1. 3600 quarters

2. Debbie, followed by Donna and then Diana

3. Peter’s car rolled the longer distance-1ft. 6 in. or 1 and 1/2 feet

4. about 38 days
5. No, 635 children will only reach about 3175 feet. To make the additional 2105 feet, they would need 421 more children

6. 10 pieces
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1. 4 oz

2. 16 cups

3. 208 mice

4. 80 scoops
5. 4 jugs

6. 5 trips
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1. Answers will vary. Possible answer; Dina wrote about the very large animal, such as an elephant (6 tons), or a blue whale (120 tons). Other animals are possible

2. No, the units are too large on a bathroom scale. A scale designed to measure smaller amounts, such as a kitchen scale would be better

3. Weight; 85 pounds; Height; 5’2” tall

4. yardstick; 4 and 1/3 yards.
5. She can put catalogs on the balance scale units it balances with the 2-pound weight. Then she can divide 32 ounces by the number of catalogs on the scale to find the number of ounces per catalog

6. days, Saturday
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1. 2000 steps

2. There are 10 mm in 1cm, not 100. The answer should be 750 mm, not 7500 mm 

3. 30 tiles

4. 100 sections
5. Wilma is right; about 400 ants would fit across the picnic table, and about 333 elephants would fit in a 1- kilometer line.

6. Each of the last 2 jumps was 61 cm each 
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1. 40 pennies

2. 20 bottles

3. 1250 piles

4. about 20
5. gold=$11.67 per gram, and caviar=$3 per gram. Gold is worth more 

6. 150 liters
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1. 10.72 m

2. volume 4, volume 1, volume 3, volume 2

3. 34 tiles

4. No, the bureau is 100 cm, or 1 meter tall. The bureau is too tall for the space
5. 9 long beads and 8 short beads

6. 5.4 meters
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1. about 12 miles

2. 100 meters is longer than 100 yards, so the soccer field is longer about 10 yards longer than the football field 

3. She multiplied by 2 instead of dividing by 2. Her mass is about 46kg  

4. 96 links
5. Ellen’s backpack was heavier because it weighed 600 grams more than Denise’s
6. She will have 7 quarts of hot chocolate mixture. 7*0.9=6.3 liters. So, Jennifer will need 7 thermoses 
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1. Degrees Celsius 

2. about 38 °C

3. about 190 °C

4. about 45 °F
5. Chicago (37°F=3°C), Boston (39°F=4°C), Denver (40°F=4.5°C), Seattle (46°F=8°C), San Francisco (54°F=12°C)

6. Check students’ graph to be sure data matches the table. Estimates will vary, but should be about 160°. Formula; 70°C=158°F
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1. Multiply; $40 

2. $ 140

3. $ 26

4. P=16 feet
5. c is the cost, m is the number of miles driven, and d is the number of days. The total cost was $108

6. 12.56 square meters
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1. $ 0.15, $0.20, $0.30 respectively 

2. r=0.05b; $2.50

3. 11.5cm, 12cm, 12.5cm, 13cm

4. the water and m is the number of marbles
5. Tables should show that the pyramids are made from the following number blocks; 1-1 blocks, 5-25 blocks, 3-9 blocks, 5-25 blocks 6-36 blocks 

6. The pyramid number squared is equal to the number of blocks, or p2=b

<page 77>

1. Possible answers; 1, 2, 4, 8, 16, 32(double a number to get the next number), and 1, 2, 4, 7, 11, 16 (add 1, add2, add3 add4 and so on)

2. sequence #1; 18 should be 17; sequence #2- the 7 should be a 8

3. 4, 7, 10, 13, 16… 

   rule; add 3 each time (or as an explicit rule, N=3p+1, where p is the position umber and N is the number in the sequence ). Check students’ visual models. 

4. First sequence rule; add 10 to a number, or n +10; second sequence rule; double each number, or 2n. At first, the first sequence increases more quickly, but after the fourth number, the second sequence increases more quickly
5. 1, 1/2, 1/4, 1/8

6. cuts 4, 5, and 6 represent 1/16, 1/32 and 1/64 of the cake, so 1/64 of the cake will be left; Rule; n÷2

<page 78>

1. the bean didn’t sprout until the 4th day.

2. 5th day; 1 cm; 8th day; 4cm

3. Students’ tables should show; Day 1-2000mL. Day2-1750mL, Day3-1500mL, Day4-1250mL and Day6-750mL

4. There will be about 875mL left after 5 and 1/2 days, and the jug is empty on day9
5. the table for job A should show the following for 0-8 cones; $0, $1, $4, $5, $6, $7, 48; The table for Job B should show the  following for 0-8 cones; $3, $3.50, $4, $4.50, $5, $5,50, $ 6, $6.50, $7.

6. Checks students’ graphs to be sure the data from problem 5 is shown. Job A will pay more if he sells 10 cones. They will both pay the same if he sells 6 cones.

<page 79>

1. No; a person grows quickly during the early years, and stops growing in the late teens.

2. Yes, the amount saved rises at a steady rate,

3. Nonlinear; the increments between numbers are not the same 

4. Linear; the graph rises at a steady rate of $10 each lesson.
5. One table should show the following lengths and areas; 1-1. 2-4, 3-9, 4-16, and 5-25; nonlinear. The other table  should show the following lengths and perimeters; 1-4, 2-8, 3-12, and 5-20; linear. 

6. The area graph is nonlinear. The perimeter graph is linear.

<page 80

1. C

2. it would be a flat line, since for every minute she ran, the speed remained the same –4miles per hour 

3. It would slant down from left to right. As the time passes, the water temperature will cool.

4. the first half of the graph would rise steadily from left to the right, and then it would slant down for the second part of the graph.
5. Lorl’s graph shows the elevation of the trip, but it dose not show the speed correctly. It indicates that the speed increases going uphill and decrease going downhill. When riding uphill the speed of a bike usually slows. Riding downhill, the speed of a bike increases quickly

6. Ava’s line should rise more steeply because she saves at a greater rate. Ava’s line should also include a few flat parts to indicate the weeks that she was unable to save. Paulo’s line is less steep because he saves less money over time.

<page 81>

1. 7

2. 9

3. 4+n=13; 9 pounds

4. 5°F+n=23°F; 18°F
5. 23+n=60; 37 minutes

6. $ 3.75+n=$20.00; $16.25

<page 82>

1. n-23=8 or 23+8=n; 31 treats

2. 96+n=134 or 134-n=96; 38 pounds

3. n-2 and 1/2=14 and 1/4 or 2 and 1.2 +14 and 1/4 =n; 16 and 3/4 feet

4. 21.5-n=2.3 or 2.3+n=21.5; 19.2 miles
5. $1.65-n=$0.75 or n+$0.75=$1.65; $0.90

6. $55.50-$4.50-n=$23.18 or $23.18+$4.50+n=$55.50; $27.82

<page 83>

1. 80*12=n or n÷80=12; 960 miles

2. 54÷n=6 or 6n=54; 9 rows

3. n÷2=1/4 foot or 2n=1/4 foot; 1/8 foot

4. $620÷$54=n; 11 days because 620÷54=11.5, so the researchers can study for 11 days, but they do not have enough money for 12 days

6. 2456÷8*42=n; 12894 insect samples

<page 84>

1. 3

2. 14

3. students should use this equation; (5*6)+2=n; 32 flowers
4. students should use this equation;

      2.00+0.35*4n=6.90; 3 and 1/2 miles

5. 1/9 pound each

6. 904 tickets

<page 85>

1. 3n-7=x; 83 students

2. 2n+6=x; 34 students

3. 1/6n-3000=x; 22400 people

4. 3n+15.6=x; 138 feet

5. Sixth grade students; 1/7n + 45=269; Kindergarten students; 1/8n +52=248

6. Side A 1/2B +5 =A, or 12 cm long;

 Side C 1/3A -2 =C, or 2 cm long

<page 86>

1. $46

2. 7hours

3. 15 stickers

4. 61 bottles

5. 16 miles

6. 0.6 miles

<page 87>

1. d-$3.00<$20.00; Number line should show amounts less than $23.00

2. 3m>45; number line should show number greater than 15 minutes

3. 1/2d<$95; number line should show amounts less than $190

4. 1+4≥20; Number line should show numbers 16 and greater
5. g+4.5<52 grams; number line should show numbers less than 47.5

6. 2l≥10; number line should show numbers 5 and greater.

<page 88>

1. –15; Check students’ number lines 

2. +5; check students’ number lines

3. +6; check students’ number lines 

4. Students record-5 and –8 on the number line; Jane recorded the colder temperature, since 8 degrees below 0(-8) is to the left of 5 degrees below 0 (-5)

5. –16; Check students’ number lines

6. Kate has the greatest amount of debt and Larry has the amount of debt. $20 is a larger amount of money to owe than $13

<page 89>

1. +1°F 

2. –14 feet, or 14 feet below sea level

3. –2°C 

4. Wendy still owes $9; -$9

5. Yes; $3

6. -3°F

<page 91>

1. 12 feet 

2. $14; 1$14

3. 25 feet

4. -$24

5. 37°F

6. 13 feet.

<page 92>

1. 12 feet

2. $14; -$14

3. 25 feet 

4. -$24

5. 37°F

6. 13feet

<page 92>

1. -$3 

2. 22 feet

3. 15 

4. 15 point

5. 452 feet

6. No, he owes $28

<page 93>

1. No, the sum of –1+-2=-3, not +1 

2. Yes; 65F+4F=69F so the water temperature increased

3. Yes; It shows a continuing decrease in temperature throughout the day.

4. No; the difference Bonnie mentions is a difference of 28 feet, not 14 feet

5. No;7+-10=-3+-4=-7

6. No; the difference is 16 ft

<page 94>

1. –8 feet 

2. 6 weeks

3. –24°C 

4. 30 hours

5. about 108 minutes(107.5 minutes)

6. –9°F

<page 95>

1. 1 piece 

2. Fraction; 1/4; Integer with exposent;2 -2

3. 2-4 yards=1/16 yard 

4. 10-3
5. The number 32 is the amount of radium in the clock 24 years ago. The 2 with a negative exponent of –4 means there are 4 half-lives periods, since 6 years is one half-life, and there are 24 years. The answer 2 means that there are 2 mg of radium left after 24 years

6. 8 mg

<page 96>

1. 6.23*109
2. 1.3*109

3. about 268 trees per acre 

4. about 3 feet

5. 1012 times wider

6. 1.092*105 pounds

<page 97>

1. –2F

2. 5682 ft
3. lose; They lost 1 yard all together 

4. loss; The company had an overall loss of $500

5. 680 feet

6. the ground floor

<page 98>

1. 15/2

2. She thought –2.09 was the least number, but it was the greatest number. The correct order is –2.5, -2 and 1/5, –2.09
3. Wes is right. Numbers are rational, if it is possible to write them as a ration of two integers

4. The least number is –13/2 and the greatest is 2.9. The difference is 9.4

5. Yes, Possible numbers –1÷3=; or 2÷  -6=

6. 2/3, 13/11, the fraction from of these is exact, but the decimal from is rounded, so the fraction from is more precise to use in calculations.

<page 99>

1. Kayla, -5and 1/4 is 5 and 1/4 units from 0 on a number lne;1-5 and 1/4= 5 and 1/4

2. He didn’t change the mixed number to an improper fraction first. The answer should be –8 and 3/4.
3. Check students’ number lines. From left to right, the numbers on the line should be –1 and 1/2, 0, 2, 2 and 3/4, and 3.5

4. The answer to the problem is -4

5. 46.19C

6. Gino took 17 slices and Dante took 26 slices

<page 100>

1. square; (0, 0)

2. answers will vary. Possible answer; (2, 5),(2,-5),(-2, 5),(-2, -5)
3. answers will vary. Possible answers; (1, 3),(0, 1),(-1, -1),(-1, -1), yes, the point(32, 65) would be on the line 

4. some possible points on the line include (0, 0),(1, -2)(2, -4),(-1, 2)and(-2, 4); y=-2x

5. Yes, the pipes will not run into each other because they are parallel. The +2 moves each point of the line y=x up 2 units, and the –3 moves each point of the line y=x down 3 units. +2 and –3 show where each line intersects the y axis.

6. line A; y=x, line B; y=3x line C; y=1/3x; Check students’ graphs for accuracy. All three lines pass through the origin, but the line y=3x is much steeper than the line y=1/3x. The coefficient of x determines how the line is.

<page 101>

1. 11

2. answers will vary; One possible answer; Liza is 9, her brother is 16, her mother is 36, and her father 49
3. Nom Mark can’t make a square using 24 tiles. The largest square he cam make is 16 tiles. If he had 1 mire tile, he could make a square using 25 tiles 

4. Lois should take the piles with 38 and 73, and Monny should take the piles with 35 and 46

5. about 30 mph

6. About 94 feet; √‾586=24.2; 24.2*4 = 96.8; 96.8-3=93.8; Round to 94

<page 102>

1. Students may draw a pentagon or quadrilateral.

2. An infinite number of lines pass trough one point but only one line may pass through two points
3. yes, he could have made a parallelogram with equal sides and no right angles (a rhombus)

4. Check individual drawings

5. He will point 5 rows of flowers that will form star

6. Quadrilateral; 2 triangles, pentagon, 3 triangles, hexagon; 4 triangles. Octagon, 6 triangles; 20-sided figure; 18 triangles
<page 103>

1. since the angle is acute, it must be a measure that is less than 90°. It measures 80°

2. The plane takes off at a steeper angle. Check students’ drawings
3. 60° 

4. 45°
5. 60° 

6. 8 places were eaten. Each piece has a central angle of 36°, so there were originally 10 pieces of cake
<page 104>

1. 135°

2. 80°, 170°, 90°, the difference between the complement and supplement of any angle is 90°
3. Angle congruent to ∠1, 3, 5, 7, 9, 11, 13, 15, ∠14 measures 65°

4. Answer will vary. Possible answers; 

∠AOD≡∠COB, ∠AOB≡∠COD, ∠ABD≡∠BDC
5. The first angle is 90° and the second angle is 60°, so the difference is 30° 

6. 30°

<page 105>

1. No, the side opposite the right angle is always longer than the other two sides

2. 90° 65°
3. 49° each; isosceles 

4. No, these angle measurements are not possible because they do not add to 180°. A triangle cannot have two right angles. The measurements should be 90, 45° and 45°
6. 5. this forms 8 congruent triangles; the angles measure 67.5°, 67.5° and 45°
7. ᅀDCE is a right isosceles triangle 

<page 106>

1. rectangle or parallelogram

2. Drawings will vary. The trapezoids must have two base angles equal to 140° and the other two angles equal to 40°
3. ∠D was 95°, ∠B was 120°, and ∠E was 110°

4. 130°, 50°, 130°, 50°
5. two angles measure 72° and two angles measure 108°
6. Any quadrilateral can be used to tile a surface.

<page 107>

1. a triangle and a quadrilateral

2. Check students’ drawings
3. a smaller isosceles triangle and a trapezoid

4. Twelve small shapes appear on the book cover; 4rhombuses, 4 isosceles triangles of one size, and 4 isosceles triangles of another size.

5. 1/16

6. 41 steel bars

<page 108>

1. 90°

2. 20 yards
3. 60° each

4. 45°, 135°, and 135°
5. rhombus; two angles re 60° and the other two are 120°; The rhombus is made of two equilateral triangles which are seen if you draw a line that connects the center of the circles. The angles of equilateral triangles are 60°
6. The angle formed by connecting any point on the circle with the 2 endpoints of a diameter of the circle always measure 90°

<page 109>

1. No, Drawings will vary

2. Similar; they are shaped the some but are not the same size
3. 6 inches

4. answers may vary. Possible answer; A protector. If the angles or the same, but the lengths of the sides are different, then the triangles are similar

5. Yes, The corresponding angles are congruent
6. Yes, she can break if vertically so that one part is a 1*2 rectangle and the other part is a 2*4 rectangle.

<page 110>

1. Terrell’s line was along the left side of the triangle. Amar’s line was to the right of the right of the triangle

2. A, H, I, M, O, T, U, V, W, X, Y
3. Check students’ drawings. The translation keeps the boat upright. The reflection keeps the boat upright only if the line of reflection is verified.

4. Answers will vary, but it is possible for the translation to be made by a reflection, a rotation, or a translation. In each case, all 3 transformations look the same

5. a translation; two reflections over parallel lines is the same as a translation

6. yes; The parts of the shape that are to the left of the line are reflected to the right of the line, and  the parts of the shape to the right of the line are reflected to the left of the line
<page 111>

1. Drawings will vary. Check students’ drawings to be sure the shape has 2 lines of symmetry

2. Answers will vary. Possible answers; a daisy or an acom cap has rotational symmetry and line symmetry, and a leaf has line symmetry
3. Answers will vary. Possible answer; an isosceles triangle

4. The parallelogram has rotational symmetry but it does not have line symmetry

5. 8, 1/8 of a turn

6. Check students’ drawings. Possible shapes are; (a) kite (b) rectangle or rhombus (c) square (d) a regular pentagon

<page 112>

1. Check students’ drawing to make sure they show a pattern of three repeating figures

2. The figure rotates 1/4 turn each time. Students’ drawings should show the next figure with the arrow at the lower right and the circle in the section on the left
3. Students’ descriptions should mention that a square is rotating 1/4 turn each time. The small square and circle inside each shape has alternating shadings; shaded square, shaded circle, shaded square, etc. Check students’ drawings to make sure the next two shapes in the sequence are correct. 

4. Check students’ codes for pattern

5. 25shapes; the triangle
6.If she starts and ends with a blank tile, her pattern will show only complete.

 <page 113>

1. Check students’ drawings show two line segments that intersect to form 90° angles

2. Check students’ drawings
3. check students’ drawings, If done correctly, the bisectors meet of the midpoint of the hypotenuse
4. ∠ABD is 90°(a right angle) with BC as its angle bisector
5. Check students’ drawings

6. Check students’ drawings. The segments are perpendicular of bisectors of each other

<page 114>

1. Drawings will vary. They may be aligned in a grid, they may stagger like a brick wall, or they may be placed so some are vertical and some horizontal, as long as there is a repeating pattern.

2. Answers will vary. Check students; drawings
3. This shape does tessellate. Check students’ drawings.

4. Yes, there are several ways to tessellate this shape. Check students’ drawings

5. This shape tessellates. Check students’ drawings

6. Answers will vary. Check students’ drawings

<page 115>

1. Drawings will vary. They may be aligned in a grid, they may stagger like a brick wall, or they may be placed so some are vertical and some horizontal, as long as there is a repeating pattern.

2. Answers will vary. Check students; drawings
3. This shape does tessellate. Check students’ drawings.

4. Yes, there are several ways to tessellate this shape. Check students’ drawings

5. This shape tessellates. Check students’ drawings

6. Answers will vary. Check students’ drawings

<page 116>

1. 74 feet.

2. 1400 feet
3. 20 feet

4. 240 feet

5. Olivia; The food Court require 104 feet of fencing; The craft center will require 116 feet of fencing

6. 40 inches

<page 117>

1. 50 in.2
2. 21 ft2

3. 5.2 ft

4. 48 yd2
5. Answers may vary. Possible response.; Bosses of 4 and 8 inches and a height of 1 inch

6. 6 ft2
<page 118>

1. 25 in.

2. 47 cm
3. 66 feet

4. 25 mm

5. 4 yards

6. 17 feet

<page 119>

1. 78.5 cm2
2. 706.5 in. 2
3. 452.16 cm2
4. 124.63 yards2
5. 16.61 ft2
6. 7 in; Tyrone

<page 120>

1. 201 yd2
2. 6m
3. 0.3 in. 2
4. 8 ft.

5. 25.1 m; 50.24÷3.14=16 (the radius squared). The radius is 4 and the diameter is 8. Circumference; 3.14*8=25.1 m.

6. 18.8m2; find the area of the area of the entire circle (3.14*9=28.26). Then multiply the area of the circle bu2/3 to find the area of the shaded part (28.26*2/3=18.84m2)

<page 121>

1. 40 feet

2. 88 feet 2

3. 749.8 in.2
4. 177.52
5. 138.2 cm2
6. 161.8 cm2

<page 122>

1. Students should draw a cone
2. rectangular prism, 6 faces, 12 edges, 8verticles
3. Students should draw a triangle prism

4. Possible anno; Basketball, beach ball, Possible anno; tissue box, Possible anno; Soup can, Oatmeal container, Possible anno; Great pyramid
5. She drew a pentagonal pyramid

6. Students should draw a square with 2 diagonals that connected the opposite vertices

<page 123>

1. 76 in2
2. a cone
3. 136 cm2
4. a triangular pyramid 

5. 9.375 ft2
6. a hexagonal pyramid

<page 124>

1. 8 cm3
2. 12 ft3
3. 60 cm3
4. 864 ft3 

5. 5 in

6. V= 1024 ft3, They do not have more strange room because the volumes are the same.

<page 125>

1. area; 15 ft2
2. perimeter , 22 yards
3. area; 384 in.2
4. perimeter; 14 shrubs 

5. area; 254 ft2
6. volume; 36 ft2

<page 126>

1. 376.8 m2
2. 150.72 ft2
3. 62.8 in. 2 , 3 in. by 12.56 in.

4. 678.24 in. 2
5. 1607.68 in. 2
6. 18 cm
<page 127>

1. 141.3 m3
2. 62.8 ft3 
3. 471 m3
4. 803.84 cm3 

5. 10 cm, yes

7. 659.8 in. 3
<page 128>

1. 3;5. 3 to 5, 3/5

2. 24 blue fish
3. Katie and Anthony finished the same amount of homework

4. 48 students 

5. $ 27192, set up a ratio;2/$4532=12/m, and solve for m.

6. 49 single-celled organisms

<page 129>

1. 12 miles

2. $ 0.70
3. 328 miles

4. $ 14.00 per day 

5. $ 0.54

6. No, he hiked at a pace of 3 miles per hour

<page 130>

1. 6 apples for $2.40

2. $ 12 for 1 day
3. 64-ounce bottle for $4.99

4. a gallon of milk for $2.65 

5. the Everglades trip

6. the all-day pass

<page 131>

1. No, 325÷65=5. The trip will take 5 hours

2. Yes; 3.50*8=$28, which is close to $30
3. No, 15÷6=2.5, so this weekend’s race will take him about 2.5 hours

4. yes, 12*1.61=$19.32 

5. No; convert 1 hr 45 minutes to 1.75 hours. 16÷1.765=9.1 miles per hour
6. Yes, convert 1 hr 55 minutes to about 1.92 hours. 16÷1.92=8.3 miles per hour

<page 132>

1. $12/2=$36/x; x=6 hours

2. 6/2=42/x; x=14 minutes
3. 9/2=117/x;x=26 guides

4. 5/40=x/320; x=40 hamburgers

5. 19 canoes
6. 6 hours and 55 minutes
<page 133>

1. 14 leaders; check students, graphs to make sure the data are plotted correctly

2. 20 pounds; check students, graphs to make sure the data are plotted correctly
3. 255 miles; check students, graphs to make sure the data are plotted correctly

4. 14 water sources; check students, graphs to make sure the data are plotted correctly
5. 113.4 miles; check students, graphs to make sure the data are plotted correctly
6. 22 hours; check students, graphs to make sure the data are plotted correctly

<page 134>

1. 32 in.

2. 5 cm
3. Yes; The corresponding sides are proportional 

4. 30 ft
5. yes, The unknown side of the first triangle is 7 cm. 7cm/8cm=10.5 cm/12cm

6. Yes, The unknown side of the second rectangle is 12 in. A 4 in. by 8in. rectangle is similar to a 6 in. by 12 in. rectangle because the corresponding sides are proportional. 

<page 135>

1. 60 miles 

2. 25 centimeters
3. 337.5 miles

4. 47.5 centimeters
5. 213 and 3/4 miles
6. 106.55 kilometers
<page 136>

1. 5%

2. 17 %
3. 48%

4. 15%
5. 82%
6. 80%

<page 137>

1. 0.42

2. 0.9, 90%
3. light blue; Possible answer; 80%>7.2%

4. 2/5, 0.4, 40%
5. 70.4%
6. 50 students
<page 138>

1. &0.70

2. 7 students
3. $3.00

4. $20.02
5. $4.80
6. $ 1.550
<page 139>

1. 12free throws; Possible answer 0.25*48 or 1/4*48

2. 60 questions; Possible answers; 1/2*120 or 0.5 *120
3. 5 people; Possible answer; 1/5 * 25 or 20 * 25

4. 40 partners; Possible answer; 1/3*120
5. Possible answer; during the first month; Alysa mode 12 % of her shots, but during the second month, she made 28 % of her shots. Possible answer; 0.12 =12 % and 14/50=28/100=28%
6. 207 students chose cheese pizza, 378 students chose pepperoni pizza, and 315 students chose mushroom pizza. Possible answers; 0.23*900=2.07;0.42*900=378;7/20*900=315

<page 140>

1. 40%

2. 15%
3. 1.5%

4. 88.9%
5. 150%
6. 0.3%
<page 141>

1. $13.25

2. $72.00
3. $15.67

4. Yes, the total price with tax is $ 294.68
5. Discount was 40% off the original price. Cost with tax; $127.50
6. Pants and 2 shirts come to $24.65, with the 15% off. If he gets one more shirt, his total cost will be $27.75, with 25% off. So, the additional shirt will cost him $3.10

<page 142>

1. $84.80

2. $13.33
3. $234.38

4. Yolando’s money will earn $14.95 in interest and Micha’s will earn $ 13.80,so Yolado’s money will earn more in interest
5. He’ll earn $32.50 more in Seaside than in west Side
6. 5%
<page 143>

1. Bus; 30% tickets; 40, lunch; 30%

2. Bus; 108°, lunch; 108°, tickets; 144°; Check students graph
3. Park clean-up;21%; Food Pantry; 24%; Visit to elderly; 12% Community center repairs; 5%, Animal Shelter; 38%; total is 100%

4. The number of degrees in each central angle is the some as the number of students, since there are 360 students and 360° in a circle. Check students’ graph
5. 480 people
6. Measure the central angle, Divide this by 360 to find the percent of people in that category. Multiply this percent by the total number of people 480. The number of people in each category are; cereal; 292 people; eggs; 60 people, beagle and toast; 48 people, don’t eat breakfast; 20 people, other; 60 people.

<page 144>

1. 4 students

2. 5 students
3. 6 students

4. 3 mice
5. 63
6. 26 people

<page 145>

1. 1/3

2. 2/5
3. 1/2

4. 2/3
5. 6 blue marbles
6. 1/4

<page 146>

1. 1/4, or 25%

2. 22/50, or 44%
3. 1/2, or 50%

4. In the experiment for 20 trials, the probability was 30%. In the one for 80 trials, it was 55%
5. red or orange; 12/30, or 40%; green  or yellow; 14/30. or 46,7%. The probability is greater that she’ll pick a green or yellow
6. red or orange; 38/100, or 38%; green or yellow; 50/100 , or 50%. These results are close to the theoretical probabilities found in problem 5.
<page 147>

1. 150

2. 120
3. 100 vanilla, 72 raspberry , and 128 chocolate

4. 4 vanilla, 3 raspberry, and 5 chocolate; because the numbers are small, this prediction could be off by quite a bit
5. about 176 bags of chips
6. 20 packages of hot dogs, 18 packages of hamburgers, and 60 packages of veggie burgers

<page 148>

1. 77/80

2. 2/3
3. 3/5

4. 4/13
5. the probability 12 3/5, or 60%, which is greater than 50 %
    6. P(summer or winter); 3/8
<page 149>

1. No, the probability of tossing a head is 1/2. Ruby’s results are not accurate because the number of trials was so small 

2. No, since 3/4 of the people he asked sold “always”
3. Yes, 98 is about 100, so 100/300=1/3

4. No, it should be closer to 1/2, since the actual probability is 48/101
5. Yes, since 90 out of 100 students surveyed checked out books of least once a month
6. Ben’s since the actual probability is 18/40, which is less than 1/2

<page 150>

1. There are 15 combinations. Check students’ tree diagrams

2. 2*4*3=24 possible choices
3. 10*10*10=1000

4. There are 12 possible combinations; check student diagram
5. Answers will vary, but the 3 numbers for bread, meat cheese must have a product of 60. Possible answer; 4 types of bread, 3 types of cheese, and 5 type of meat 
6. There are 24 possible outcomes, and 2 of them have a sum of 9. So the probability of getting a 9 is 1/12. A better choice would be 5, 6, or 7, of which all have a probability 1/6

<page 151>

1. six ways; 123, 132, 213, 231, 312, 321

2. 6
3. There are10 possible combinations. Six of theses are 15 ¢ or less.

4. There are 24 ways. The probability that he will pull out the red chip first is 1/4 or 24%
5. 5/12
6. 24

<page 152>

1. He should not replace it in the stack

2. Independent
3. Independent
4. Dependent; winning the meet; Independent’ winning the hurdles
5. Dependent; second events may vary. Possible answer; If students are out sick
6. Oliver’s method is independent and June’s method is dependent 

<page 153>

1. 5/6*4/5=20/30=2/3

2. Both are equally likely, since the probability of each happening is 1/6
3. 4/8*3/7=2/6=1/14

4. 3 red and 1 yellow
5. P(purple, purple); P(purple, blue), P(blue, Purple)
6. The most likely combination is 2 students from Mrs. Diaz class and 1 student from Mr. Rivera’s class. The probability of this happening is 9/56

